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GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual,
viz., in English/Assamese/Bengali/ Bodo/Hindi medium,
for their ready referencé In case of any discrepancy or
confusion in the medium/ version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
Take n = %2 wherever necessary.
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SECTION—A [/ 34l / 33— | F—TEMM | H—wm

Choose the correct answer :

o TaA0 AR e -

o Tl @RS :

3 e e e

Hé I G :

AI/ANhich one of the following is a non-terminating repeating
decimal? 1
T RO Ry (oo wafde 2
Frare @i frafa Cmg"jﬁﬁi s 2
QLSS Gﬁa?}%ﬁf@, TR ?
LSO SRRSO E——

@ > B o 4 = @ =
/2. The product of the zeros of x? —15 is 1
~x? ~ 153 FICEFRR R
x? - 15-aR afR R 2
x? -15 i wrfia" w1 aFeETd SEE
x2 —15 % Y H OEEA &
(ay =15 (b) 15 (c) V15 (d) -V15
/ Consider the following pairs of linear equations :
(i) 3x+2y=5; 2x+3y=5
i) 2x-3y=7; 2x —?.Sy =8
Choose the correct alternative. 1
(@) The pairs in (i) and (ii) are consistent.
(b) The pairs in (i) and (ii) are inconsistent.
B19-GM/21B [ Contd.
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(c) The pair in fi) is inconsistent, whereas the pair in (i) is

consistent.

(d) The pair in (i) is consistent, whereas the pair in (ii) is

inconsistent.
Tod (A% HAPATA CRACIRO! fACaw1 31
(i) 3x+2y=395 2x+3y =95
fii) 2x-3y=7,2x-3y=8
W fAweor A Tfeed
(@) ()= ()3 CTRTILLAR FTS |
(b) (i) = (ii) I QAILAR WS |

- M) ()7 CAIRCH] LTS, {3 (i) I CRCHT 3397 |

-
L

@/ (i) CUATHT A58, 3 (11) A (WATHT TR |
TS tae FAeweR croIsf R @

(i) 3x+2y=5, 2x+3y=95

(i) 2x-3y=7;,2x-3y=8

W% el - TS |

(a) (i) 933 (ii)-93 (HTEIBMA TS |

(b) (i) GRR (ii)-97 CRTEIGE TPRS |

(c) ()93 carelt Spirsre, 9 (ii)-9q (el oS |
(d) (i)~ eI WS, 7 (ii)-97 ot TS |
TEER TR TIHYER 9 TERE) T

i) 3x+2y=5;2x+3y=95

() 2x-3y=7,2x-3y =8
A frraat wraa A RgA|

(@ ()3 (i) T 3T GEAE|

() (i) M (i) B FTER @it

() (i)f T @renfy, mum (i) 7 9T g
(d). ()F T GremmE, muE G6) {9 @)
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(4 )

=1 e vl % g1 w feEr it

i) 3x+2y=95;2x+3y=5

(i) 2x-3y=7;,2x-3y=8

w8 fasren gfim)

(@) ()3 (ii) AT gm W &

(b) (i) 3N (ii) A W 3rdTa B

(c) (i) W AW & F&@Th (1) F1 g G B
(d) (i) g™ ETa & SEF (i) F gW w2

/Thc 30th term of the AP 10, 7, 4, ... is 1
10, 7, 4, ... 9@ AREBA 30T 2/gH1 e

10, 7, 4, ... 7mA 2ReHa 307w =0
10, 7, 4, ... qAgia Sirmfafy 30% e smm
10, 7, 4, ... SR A 1 30af 95 B
(@) -67 y ~-77 (c) -87 (d) -97
j/LCt ABC be a triangle such that AB=6V3 cm, AC =12 cm
and BC =6 cm. Angle B is

ABC f&g83 AB=6V3 cm, AC =12 cm 9% BC =6 cm. B @10
X' |

ABC fogte@ AB =6V3 cm, AC =12 cm @& BC =6 cm. B @1}
- _

ABC afamfi AB=6vY3 cm, AC=12 cm ¥ BC =6 cm.
B @91 SEE

ABC fiys  AB=6V3cm, AC=12 cm 3 BC=6cm @,
A FT B F 9H M

(@) 120° B)90" - @ o0 (d) 45°
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7Thc distance between the points (0, 0) and (-8, 6) is
(0, 0) W (-8, 6) R PR e T XA

(0, 0) ¥ (-8, 6) % 7fb7 W =% ==
(0, 0) 3 (-8, 6) fat WA AR THYRT J=™

A firgadt (0, 0) Mk (-8, 6) TR H R
ylo (b) 8 " (o) 6 (d) 2

7. Which of the following is true?
- (a) The value of tan A is always less than 1.
(b) The value of cotA is always greater than 1.
(c) sin® =% for some angle 6.
(d) secH= lsg for some angle 6.
THR (FICGT 7S] ?
(@) tan A I MR lw T
y cot AT TH A 1HSLF Tl |

() @A @1 08I AR sinb =

(d) @Al (319 03 I secb =

0115 wlm

frre @t 3797 ?
(@) tan A-<3 T KA 1 (AT @D |
(b) cotA-<R T 7 1 (XT3 [T |

(c) CRTCAT (1T 0-9q &= sin B =

U‘|E'$ “"'_'

(d) @A @19 8-93 & sech =

B19-GM/21B
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( 6 )

TERH AT f?

(@) tan AT AE sEEl 1 g 3R
(b) cot AT st 1 fagg
(c) mém@’meﬁm@msiw:%
() wﬁm@’meﬁumsece=1—52.
Frefafaa § 4 fF-w w27

(@) tan A9 UF B39 1 ¥ 9 w41 2
(b) cotAmmﬁaalﬁasrﬁm%I
(c) %fﬂm\ma%%nsin(a:%ﬁm%l
(d) T im0 % for sec = 12 g R

/ The angle of elevation of the top of a tower from a point on
the ground, which is 15 m away from the foot of the tower,

is 60°. The height of the tower is 1

<51 B P °F1 15 m et Fire 231 @bt Rea [T BI0R T TR
(19 60° 2’77 T TH© 37

<« A ARG (W& 15 m T3 TS 4 93 R cars wola et
T (F19 60° A THA TH T3

™ TErf IR faRfwE 15 m FAUREE TEE 9EE. R R
AR S @A 60° SRYeen AR U Srie

uTft % T forg A N M F we-Rg A 15 m g}, WeR ¥ R 1 3
F0 60° R MR A 3= ah

(@ 15m (f'J/YS*JC%m () —}%m (@ 30V3m
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9,”A circle can have parallel tangent(s) at the most. 1

O] 303 T RMR ____ O STIEA ~opfs A AN |

7 q0eq @ @R ____Tb ST e RS oA |

MR g i 3t fom TR g 9 e |

o g9 i e & v _ wi-tard 8w 2

@ 1 y/z () 3 [d) 4

10 The deéree measure of the angle at the centre of a circle is 1.
The area of the sector is 1

T2 (@S @GR REe 1, FEIMOR FfA XA

e @va @ea REer 1, et e

¥ fiears amf Bam @'l R 9'am@ 1, TR i s
T g6 & 5 & BV F AH 1 faft ), @ 3% fisgds F1 435 B

ﬂ:r2 2 2
(@ nr’ b 5 © Tes @3es
where r is the radius of the circle.
TS r 29 JG0R IPTH |
QA r el 3 AP |
I r 3 AT SGAH G|

78t r ga 1 frs R

y/ The volume of a sphere is 2887 cm®. The radius of the
sphere is
B (TR SIS 288 1 cm . (TFIOR IP THA

a3l coecE TS 288 1 cm. (TR TIPTY Zea
A g Ao 288 1 cm®. FER WU SEE
et e @1 Ted 288w cm® ¥ e it s &
fa 2 cm (b) 4 cm yG cm (d) 8 cm
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The probability of an impossible event is

b1 TG AR IR 2'H

936 PTga W STeIRel A
A senfa szl snuraAmn S
JEE 9T Yyl 2

@ o (b) 025 ¢ 05 d 1

SECTION—B / ¥l / Y= / @W—argrit | @—m

}3./ Find the HCF of 96 and 404 by the prime factorization method.

2

A BeomPrae smfem 96 W€ 4043 9. AL @, RIS | TR @
BrRee =1, 711, @ thyed |
A TP omfe wm 96 R 404-9 1. . @, @ T]@
9 (ACF O A, . B, @ @A
Tt FrEiTR R s 06 w404 8 3 A AL R A
| 3. o, @, gy
uwum@gﬁfﬁmgsafa4o4mﬂmmﬁﬁqmﬁmm
LCM v $ifsm) - |

14. Half the perimeter of a rectangular garden, whose length is
4 m more than its width, is 36 m. Find the dimensions of
the garden. 2
9 TEORE AR rgets WY 4 m QR TR “Rwr iy 36 m.
A1 M, o Aefy 34|
4F WS AR 4% (AT o0 4 m @ | @ “RR Wi 36 m.
IR 00, org ey aeay |

B19-GM/21B [ Contd.
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(92)

A TG faear aif MR Tarfigs 4 m =iftE) If afiR fRef
@Egal 36 m. faER aRf Mo R EwE g

& EAER am, frad |, maqmma F1 FvafEm
36 m 1 am i dmnd 3@ FRT]

15, The 11th term of an AP is 38 and the 16th term is 73. Find the

/ common difference.

16.
(2, -5) and (-2, 9).
(2, -5) ¥ (-2, 9) R TR *[1 FTRIS x-AF ST o] o1 fAefy
FH 1
(2, -5) =8 (-2, 9) Y b (T TG x-HCF TA o1 Regfe fRefa
@
(2, -5) IR (-2, g)ﬁzﬁwﬂaﬁﬁmmaﬂwpgﬁ:g@ﬁm
arE e g )
x-315 T 9 fag 7@ AR SN (2, -5) 3K (-2, 9) | TR R
B19-GM/21B [ Contd.

QB AHI A5 11'"‘4"’[‘?'63138W 1699 *MCH1 73. TR wu1 A
WI

a3f6 AP A5 1199 MG 38 @3 1697 *Md 73. SR wEd Ffa
A |

ﬁqﬁmﬁ%aﬁmﬁﬁllﬁxﬁamssmlﬁﬁ:ﬁzmm 3FTER
wReTE! fagd |

et gaTR A #1 1197 v 38 & U1 1681 © 73 3, ?hmuﬁam
(common difference) =1 37

Find the point on the x-axis which is equidistant from
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/Yf- If sinA= %, calculate cos A and cotA. (A is an acute angle) 2

% sin A =

B lw

, cOs A T cot A fefy 31 1 (A b1 >PHCFIe)

M sin A =

IN®

y COS A @R cot A fefa Tz 1 (A @3B SPaCI)
%ﬁsinA=%, cos A 3 cot A @ g1 (A 30 9FR @'Fren @)

afg sinA=% W, W cosA M cotA T WA WERE FRC (A T
R )

18. Evaluate/Tm Ry 41 /am fefa =tz /am fgr/mm Frafere 2

sin 30°+ tan 4 5°- cosec 60°
sec 30%°+ cos60°+ cot45°

19. If tan2A =cot(A-18°), where 24 is an acute angle, find the

value of A. 2
M tan2A = cot(A - 18°), AT T Rifa 3 1 24 By ST |
T tan 24 = cot (A - 18°), A-<& T ffy T | 24 73 TR |
IR tan2A = cot (4 -18°), AT 7 Rgr)1 24 o0 W @' @'
?IﬁtanQA=cot(A—18°],G1312A@??ETﬁW%,?h AF1 TR 9 iy
20. Prove that/om @31 CU 2 A /B @ R/ R, i
cosz +l+sinA =2secA
l+sinA Cos A
A is an acute angle. 2
A <51 STHTI |
A S STH |
A 3 AT @' @'y
A TF i })
B19-GM/21B [ Contd.
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(11 )

/21( A bag contains 3 red balls and 5 black balls. A ball is drawn
at random }“rom the bag. What is the probability that the ball
drawn is (a) red and (b) not red? 2

93 (qFTS 351 8T JF SO F'A I8 I WLR | @AWIRAE o[ <GB 96
RSN 51 25 | 51 IACH (a) 81 I (AR WF (b) 98] I63 (AR
ST R 2

a3 afs 3 @@ @32 S e WweR @ R W wF @7 @
oS BT X1 | BT F@ (@) 3 98 IR @32 (b) FE I8 [ 2SR
TR 6 2

TR AT A4 3 M1 9 3R 09 5 NEHE 960 7€ | T aa6d 3o
N 9 TG | (@) TS TEE THAE A (b) M TERA A s
qq?

@ # 3 e o 5 Wt R E W AR A A R agsa fEed
STt 21 3ah! wiiewar 71 @ F6 R (o) 9 @ R (b) Ta 7 @7

SECTION—C / S—>I}l / =t /. T—<Tgrn [ T—wm

l?E’rmﬁ: that V2 is irrational. . | 3
o1 9 (V2 ARG |

o1 FCAT (T V2 AT |
o @aE @ V2 o Ty
g s 7% V2 & it w&w B

. Divide the polynomial p(x)_by the polynomial g(x), and find
the quotient and the remainder : 3

P(x) TRARTRE g(x) ILMCORA RV I, ¥ ST WEF S0y ey 3+
p(x) I2°MMCF g(x) I2PMD 2T S FCAM, 9] CTe 3 ST Refg A :

B19-GM/21B [ Contd.
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p() e i g(x) T wivarisll T SR TR S @ R
TER p(x) B g(x) | W1 AR AR wrTEe aur Swwa 1@ ST
p(x) = x> -3x2 +35x-3, q(x) = x? -2

24. If we add 1 to the numerator and subtract 1 from the
denominator, a fraction reduces to 1. It becomes % if we only
.add 1 to the denominator. What is the fraction? 3

WA S 1 T W TR o@ 1 Rl e, 9B snen =/ 1.
Wﬁnﬁwmlmﬂw,mimﬂ%.smmﬁ?

M W @ 1 @ IR 93 T3-97 1 Rome 3R, @3 smer =1 14
WA 17 vy =3 fHes 1 Qe TR, SRRt aft = 21 saed 2

M T 1@ e A REE 1 e, Gy SeEEle
1 3 Ao |t gR e’ 1@‘:@@%%3@%1%3’1@1&'
@rieT M7

MEsmA 1N ianwAA 1 v 3, @ P 1 % 93 9Tt 19l m
FaA WY 1@3%,&%%%3@%1%%@1%?

}a./ Solve /SHIA F1/14M 01/ AEGUR g /5w Hifdr ' 3

V2x? +7x+5vY2 =0

26. The difference of squares of two natural numbers is 180.

The square of the smaller number is 8 times the larger number.
Find the two numbers.

3
1 TR e 35 Rt 180. 3 Tt 3of wreach 8 w1 2z,
Ry o1 ety &1 |
T o sicam sl Remomes 180, =S skanfor 3o <ule 8 w9 =,
SR REC ol
B SR TR TR 180, gRA SRR wion TRE sHRmR
8 ®H TR | arfmm dve R |
A TFhIH FEed F i W 180 ¥ O wewm = A wd W w7 8
T R AR FEd yr i '

B19-GM/21B | Contd.
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-

AN

27.

28.

( 13 )

In what ratio does the point (-4, 6) divide the line segment
joining the points A(-6,10) and B(3, - 8) internally?

A(-6,10) & B (3, - 8) R M @We (-4, 6) e & wwperes
e I ?

A(-6,10) @& B(3, -8) R JCuM @SS (-4, 6) R N wme
wEee A7
A(—s,mJanfrB(3,—8)ﬁaﬁﬁaﬁmmm3i@@ra@(-4,6)ﬁzﬁaw
TATHAE TA?
ﬁ%(-4,6),ﬁg&ﬂA(-6,10}afr<B(3,~8)ﬁa’rsﬁa®iamaﬁaﬁaﬂaﬁ
w9 @ i arguma A fenfra = ¥7

Find the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149.

31 ST A9 AT TEA 7 S 220X O 149 TTH WA AT 2261
oq (TR fAefy 34 |

G TR ST YR W@ 7 W3R 2200 W5 149 TA 7 AW 2216
oTia CAISTEe fAefn T | |
WWWWWTWHF&W 149 ST
Iy Prfr 22 freraf T REA)
mm%ﬁ%smmq&mmmﬁﬁqmwﬁm?%m
ooqf 1@ 149 R

-

ilateral triangle, prove that three times the square

29. In an equ
of one side is equal to four times the square of one of its
altitudes.
wqwmmwwmwzﬁﬁﬁpqwmma«
IR M |
o T (U R ST, feren @ I ol e o o3 Al
Q5 FRBL A | |
B19-GM/21B
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31.

© B19-GM/21B

( 14 )

T EEW R A iR sty sty A st s
JEEST A TR Sl TR feEF amm s

el wmag e A, g Ffie & ol o g § 1 & fee 6 @
e F =i F ¥R [ F SO QA g

Find the ‘valuc of K if the points (8,1), (K,-4), (2,-5) are
collinear.

(8,1), (K, —4), (2, - 5) % R0 «oealn 20 K 3 7= Pl 341 1
8,1), (K, -4), (2, —S)ﬁ'iﬁs—«iﬁ G 2@ K-8 TR Befw a1 )
(8,1), (K, ~4), (2, -5) &= fum 2 gr@ienk s K f 7w fg)
K %1 R 7@ it aR gt (8, 1), (K, - 4), (2, - 5) W &1

From each corner of a square of side 4 cm, a quadrant of
a circle of radius 1 ¢m is cut and also a circle of diameter 2 cm
is cut as shown in the figure below. Find the area of the

rerriaining portion of the square (Take = =2772~} :

O oS (YT T 4 cm T B R AR R AT 1 em
JPIHR Bl TER 9B1 (5% M AT LR, A 2 cm IPH 9B Ja8 I

mmtsCQwsfzmﬁmﬁﬁﬁwaﬂ%ﬁﬂﬁ(n:%%?ﬁ@ﬁ):

Voo Bra I W 4 om TR B DowEE 2RB @ 1 em
wa’amﬁwmﬁ@m@@ﬂwm«ﬁzzcmm
mwemﬁemmlawmwﬁummﬁﬁﬁm

(M%,EWW) .

TR wEThEE REEm R 4 cm JAWRR TR Tiewmh @'
nﬁ%ﬁm1cma’@ﬁﬁmﬁ@qﬁa’mm’mwmz cm
@mﬁﬂq&%@qm’mwwﬁﬁmmmﬁmﬁy

(n:-%?g_b)ﬁ'ﬂelﬁﬂ):

http://www.assamboard.com
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4 cm I I TF F F ¥24F 1 A 1 cm e 9@ 99 71 w-wgutn
FE TN R AW A R 2 cm =W F E 9w 2w A e

ﬁmwéaﬁ%mw@mm%ﬂ(n=¥ﬁf’ﬂ):

B

A

SECTION—D / 9—>¥l / §—>M%1 / 9—<Tgr / 9—wr

32, Solve the pair of equations by reducing them to a pair of linear
/ equations : http://www.assamboard.com 4

Tod AR ART AN Fomad IR 5= 34

fRAzare TR (@TE (IRF TN DS TR T I

TERR FIAUR 9 TG TGN TG W e A Tagar g
Arefifaa wfeor gm #1 tas aieol & g § 98a R g Hii ;

33. ABCD is a trapezium with AB||DC. E and F are points on
non-parallel sides AD and BC respectively such that EF is

parallel to AB. Show that
AE _BF 4
ED FC
B19-GM/21B [ Contd.
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34,

B19-GM/21B

( 16 )

ABCD @Fﬂ@mABch.WWWADWBCq 8IS T

Ewr{ﬁwﬁqammmi’ammwmwmﬂwa
AE BF

ED FC’
ABCD (P AB||DC. @7 <o A= AD 9 BC-@ Y3

G E o F 1t R @ITOR e T W EF @@ AB AR |

ED FC’

ABCD 2ffmmfy AB||DC. 3R Rrmfs @™ AD I BC R wmmw
A E 3m) F 473 farl Qe erm smam s EF 31 AB fom s
Rfa i 25 _ BF o

ED FC’
ABCD s wiee ® fral AB||DC R IR Yt AD 3 BC w

m:ﬁgEﬁanmﬁﬁ%%EFgmAB%m%lmm%
iE_z_BE%| '
ED FC

A 1'5 m tall boy is standing at some distance from a 30 m tall
building. The angle of elevation from his eyes to the top of the

building increases from 30° to 60° as he walks towards the

building. Find the distance he walked towards the building.

1'5 m 8 /'Y & 30 m@ﬁﬂ’ﬁﬁﬁiﬁ"mﬁg‘ﬁ%ﬁﬂﬁmr
@@W@ﬁwmwmﬁm@@mww%
B (I 30°7 2N 60° 041 ACE | (B4 NYHHOR Tz (A% 51 Ry fefy
¥ :

'S m =g <36 (T 30 m SweR SRR (vcF fg ee R g |
Gl St free S MWW T T ©R BN (AT KGRI N

B @1 30° (T 60°CE (ITs Tm 1 W WhifeRRa e &b ewR
fAefy Tz

1'S m T "R e 30 m TS R IR @ e Ty )
ﬁﬁ#ﬂ%ﬁﬁ%ﬁfuﬁaﬁﬁnma’wﬁ%ﬁmwﬁmm“

ﬁymﬁWfﬁuawxﬁzhﬁ%ﬁmmmwrs@ﬁyl

http://www.assamboard.com
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I'S m & @& @% 30 m S TF Y9 A $9 g0 W @ B W« @
2 v B I T R 99 e afE ¥ WA H R w1 3w @ 30°
R 60° A w1 2| AR T 77 s A 3R R g8 e e T 2

35. Prove that the tangents drawn at the ends of a diameter of
a circle are parallel. . 4

2T 4T (VB AP TS B f TS |

2T I (T LB TR YR G (3 ST |

A @em & dEaf GE wEt S e 9hr At g R
Eieif |

fog Hiftm & et 99 & et e & R o 1 wad-Yand wwiat
gt 8

36. Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then

a triangle similar to it whose sides are £ of the corresponding

sides of the first triangle. (Write the steps of construction.) 4
4 cm, 5 cm W 6 cm IR Gb1 TS 9 ¥4 IF R Pree TR
TPy (RIS O fIp® W@ T4 T A AW FAGHOR oo IR
%—-@q'@ | (SR RIARR &3 1)

4 cm, 5 cm 9% 6 cm T I fITE TEF I G TR 97 TP
ol flrgs w6 a1 T ARe v frguita e TmelE 2 91 7

(SR Rl @ 1)

4 ¢cm, 5 cm I 6 cm @AM AFE FrEfRum afa amy ft I
e WG 1) A9 rEnAym anfy s et afy srafRamf
i mﬁmﬁgmﬁml (anfE T e fowi)

4 cm, 5 cm ¥R 6 cmwﬁm@ﬁwﬁmﬂﬁnmﬁﬂm
m@mﬁyﬁmﬁﬁq,mmﬁq@ﬁgﬁﬁwwﬁ
2§ (v F o A fofaw)

B19-GM/21B [ Contd.
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SECTION—E / ®—xet / &—<il | =TT [ T—wm

37. A toy is in the form of a cone of radius 3—5' cm mounted on
a hemisphere of same radius. The total height of the toy is

. 22
15:5 cm. Find the total surface area of the toy. (Take m = —,‘—;) 5

DB [ G AT @B WA €7S 3-5 cm JPTETS 901 I
oS ) DR I Twwl BA 155 cm. oADR T Pl Ry w4 )
(n=273{1%wﬁ-<'1) -

T T X AP G W TR 35 em JFYE 9TH
T AW RS | (e % el e 155 cm. (XERIMGY @D ol

et @z (n:?.'?gzma )

LY

AR FUEE T W'@E T A Egi e 345 cm @[ TH ARy
SES ARNEEE | $Yent md shumn s 155 cm. FYR TR fag

Wﬁﬁ@ﬁgﬁl(n=2—;ﬁﬂﬁﬁq)

s figeian fisan 3:5 cmaﬁwﬁ@%mm%ﬁhuﬁﬁwm@
Al W A ¥ @ Reett ) ol $=d 155 cm R W Reey =

Hqt g Swe T B m:%{?ﬁ%
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Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively

- are melted to form a single solid sphere. Find the radius of the

resulting sphere. Also find the surface area of the new sphere. -
22 .

(Take n = 7)

6 cm, 8 cm W# 10 cmm«ﬁﬁﬁmcmmmﬂ@cm
mﬁws\’mchﬁmﬁﬁdnﬁlamw (IO

Wﬁﬁwi(n:¥qﬁiuﬁﬁ)
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6 cm, 8 cm @& 10 cm PR oA 419F CoM=Te ey @b g
(O TSR 1 Z0aT1 | A (AMerafda APy e e | 31 g (omerfbe

Wﬁ—tﬁﬁmﬂ:::%gwm)
6 cm, 8 cm 3R 10 cm ¥@AN AAYW UG TR F&EfT g1 AR
MR TN e THRAR STErE | e i @ @eE! fig | dma Mem gl
fag et R (1 = 22 drerdt )

FAM: 6 cm, 8 cm 33N 10 cm =Rl a@ ug & @7 3w
#) et w 921 3 Ten S9/1 ST 2 W R e & e g fifsw)

|1 ) 74 I e = 9EE SEwa ot I Aifr (n=%g?ﬁﬁm)

. The marks distribution of 30 students in a mathematics

examination are given below. Find the mode of this data :
TeR SIfeTe 30 FA BEE ARrFS sffes (AR w93 i lxr | 9} SUR
IS a4 :

Ao SfeeE 30 & =CAA IS *RAPFW A1Y TR (ST AR | 9% YA
IS ey T

MEEM §ARgE W 30 FUTEE AFAWRAE GHEEE A TEhRa!
30 frenfefat gra whm 6 whan F ww e e siw R e o # ) 3 Renfilat
<R ST 37! 1 SEE T HINT :

Class interval | 10-25 | 25-40 | 40-55 | 55-70 | 70-85 |85-100

Q1 SFT
el ik A
gr@ @<
i 37aIcT

No. of students 2 3 7 6 6 6
RIGT 313301
RICIT 73301
WEEIR ST
faenfefat #) &

* & ok
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